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B.Com. (Third Year) Examiration, 2018

ACCOUNTANCY AND STATISTICS
Paper—|
(Management Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@uz-231) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Tt 5 SfEr ¥ | T W I T v Y s
Tt Wl & ik T ¥
PART - B (@vs-v) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

T TS | Uh-Uh J99 T4 g0, F Uie 99 Fifor |

Tod®h F¥T 1 S 250 VST ¥ 1 7 81

|t wvH & 3 wEE ¥

PART - C (@u=-w) [Marks : 30

Answer any fwo questions (300 words each).
All questions carry equal marks.
IS ST T FISC | e WY H S 300 IR T aTﬁm#@n

| YEEl o 37 T ¥

3801/9950 PT.O.




PART - A
(@ue-3)
1 Answer the following questions :
et w6 maﬁﬁq ¢
UNIT - 1
(ghTE-1)
(i) State two limitations of managemeﬂt accounting.
are oA QA S |

(ii) What are the main objects of preparation of financial

statement ?

ferelrer forereor T T 6 A T59A €2
UNIT - I
(ZTE-10)

(iii) What do you mean by the term 'financial analysis' ?

el Fereeraor & sTaes 4 el § 72
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(iv) What is capital gearing ratio ? [s it sam;: as debt equity
ratio ?
it et arqu s B €7 @ 7w mu-gwa I
& 87
UNIT - III
(F=hTg-110)
(v) What is meant by term 'fund' in reference to fund flow
statement ?
F1 FaE forewor & wf F ‘v v @ = e
(vi) Write names of four transactions covered under cash
flow ?
fafrars forareii & dehe ware & swaia wifter ar s=ni

% 9 fafed |
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UNIT - IV
(3&E-1V)

(vii) Write name of at least two budget, which are treated

appro. budget.
F17 & 9 0Q & FwEl % A e g frise T
HAT ST & |
( viii ) What are the pre-requisities of effective information
system ?
el G e ] - SR € 7
UNIT -V
(FHE-V)
(ix) How sales are forecasted ?
ferer 1 qETIH foE TR S €2
(x) Who are the originators of balanced scorecard ? When
they originated it.

wm%mﬁﬁ?ﬁ@mwm?
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PART - B

(@ug-7)
UNIT - 1

(3%TE-1)

2. Define management accounting and discuss the function and
limitations of l;lanagement accounting.
mﬁ@mﬁvﬁﬂmfrﬁqammé@m%m@
Hrenadi w1 qoi Fifsw

OR
( 3rgar)

3. What is meant by financial statements ? When, who and for
whom they are prepared ?
ﬁ?ﬁﬂﬁﬂmﬁﬁmﬁmﬁﬁ?ﬁﬁ,ﬁqaﬂtmm

AT ST 2
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UNIT - II

(F@TE-11)

4. From the following income statement of A limited and B united
for the year ended 31% March, 2013, consfruct common size
income statement.

« fefftirs e o fiafiee & 31 W, 2013 1 A B A T

¥ a7 FETu-TE § WA SR S fae- g TR |

Particular A Limited B Limited
Sales less returns 2500 10,000
Less : cost of sales 1,200 6,500
Gross profit 1300 3,500

Less : Operating expenses 600 900
Operating Profit 700 2,600

Add : Non-operating incomes 150 100
850 2,700
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Less : Finance charges and other

non op. expenses 250 300
Profit Before Tax 600 2,400
Less : Income-tax @ 30% on above 180 720
Profit after Tax 420 1.680
OR
( 3teraT )

5. Calculate closing stock from the following information.

e Sgea & sifiem s v form i ; '
Rs.
Net cash sales 3,20,000
(5 T for)
Net credit sales 3,00,000
(Us SuR fawy)
3801/9950 7 PTO.




Rate of gross profit :

(T T L)

On cash sales 25%
(7 fasnt TT)

On credit sales 30%
(SHR fasht W)

Closing stock in 25% more than opening stock and stock

turnover ratio is 8.
sy i TRIRER = 8 25% e ¥ | G T e

SIE 8 2 |
UNIT - I

(ZeRTe-111)

6. From the balances sheet and information given below, prepare
a statement of sources and uses of fund for the year 2012~
1534
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aﬁﬁﬁw&ﬁwﬁﬁqumﬁ%mmwaﬂzou—u%

ferdt sl % Sl oyl o ooy S Hifer
Balances Sheets

Liabilities 313.12| 313.13| Assets | 31312 313.13
Creditors 40,000 | 44,000 Cash 10,000 - 7,000
Loan from A 25,000 —| Debtor 30,000/ 50,000
Loan from Bank | 40,000 50,000 | Stock 350001 25,000
Capital 1,25,000 | 1,53.000 Machinery 80,0001 55,000
Building 35,000 60,000

Land 40,000 50,000

247,000 | 2,47,000 2,47,00012,47,000

During the year 2012-13 a machine costing Rs. 10,000
(accumulated depreciation Rs. 3.,000) was sold for Rs. 5,000.
The provision for depreciation on 1st April 2012 and 31 March

2013 were Rs. 25,000 & Rs, 40,000 respetively. Net profit

for the year 2012-13 was amounted to Rs. 45,000.
3801/9950 9 LPTO.




o 2012-13 # TF HEH FoEER! A F. 10,000 (St B %
3,000) #ft, %! ®. 5,000 & g fea 1 3, 2012 @9 31 T,
2013 T &9 & fer e i TRT S Gl off &. 25,000
2o . 40,000 &1 A 2012-13 T TG T . 45,000 A
OR
( zrean)
7. Calculate profit from operation and cash from operation from
the following :
et @ fer @ @ T i I HIfT 2
(i) Profit for year 2012-13 was Rs. 10,00,000 after

considering the following :

(a) Depreciation on fixed assets _ 40,000
(b) Amortization of goodwill 20,000
(c) Transfer to genral reserve' 28.000

3801/9950 10




(d) Profit on sale of land

(e) Interest income on investment

(f) Interest paid on loan from Rajasthan
finance corporation

(8) Proposed dividend and provision for
dividend distribution

(h) Provision of tax

(i)  Provision for doubtful debts

() Discount allowed to debtors

21,000

5,000

12,000

1,20,000

45,000

10,000

1,200

(i)  Position of some of the current Assets and Current

liabilities :
313.12
Debtor (Gross) 60,000
Creditors 40,000
3801/9950 11
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48,000

60,000
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8.

Bills receivable 32,000 40,000

Bills payable 8,000 15,000
Outstanding wages 3.000 Nil
Prepaid rent 1,000 6,000
Provision for tax 27,000 40,000
UNIT - IV
(FFE-IV)
Following are the flexible budget equations : !
feifafe Tl dreeie =2 F ¢ ¢
Indirect wages Rs. 0+ 0.80 X units
Repair Rs. 3,000 + 0.70 X units
Depreciation Rs. 1,000 + 0 X units

You are required to prepare flexible budget for 2,000, 5,000
and 7,000 units of productions.
o w1 T ¥ £ 2,000, 5,000 T 7,000 FEHEAN F I

T e 9912 TaR s |
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OR
( 31¥ar)
9. What do you understand by the term 'management reporting'?

State its characteristics.

A S § SR o e &7 s e e a $
UNIT -V
(39TE-V)

10. Following is the time series of units demanded for product
'neat’ during last 7 years of a manufacturing company :
@ﬁnﬁwm%m‘aﬁa'aﬁnﬁ7aﬁﬁﬁaﬁmﬁ
FI HHF FHR T
Year 2004 2005 2006 2007 2008 2009 2010
Demand 160 180 184 166 188 198 184
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11.

of product. The director of company asks you to forecast the
demand of next three years, using of a manufacturing

company.

m#m%mmmﬁ%fmwaﬁﬂﬁ
mmm@‘ﬁz'aﬁﬂhwwmﬁm%l
OR

(z1gar)
Discuss the concept of value addition. How it is ascertained,
genrated and distributed.
mmehsmmaﬁmaﬂﬁmmaﬁm)wt{dﬁam
o e T ST R |

PART - C

(wue-9)
UNIT - I

(gFrs-1)

12. Define management accounting. How does differ from

financial and cost accounting. Explain the utility of management

accounting in business management.

3801/9950 14



T @i Y aiearn e | g fasita aur o o fafy
T 9 whR g 32 =R ve e sraie 551 s
TR |

UNIT - II

(FTE-11)

13. Following financial structure is extracted from the annual

report of Narayan Pvt. Ltd. for the year ending 31/3/16 -

ettt fereftar 2 31/3/16 @ = . . 3 s wfaden

qfammn g .
1000 equity shares Rs. 200 each 2,00,000
12% preference share capital | 1,60,000

(Redemable after 13 years)

Reserves 80,000
16% long term loan 4,00,000
3801/9950 15 PT.O.




Profit and loss A/c 40,000
Current liabilities 1,20,000
You are required to calculate following ratios :
(i) Reservesand surplus to equity capital ratio.
(i) Current liabilities to proprietor fund ratio
(i) Debt equity ratio
(iv) Value per share
(v) Capital gearing ratio
UNIT - 1
(geT$-111)
14. From the following information extracted from the books of
a manufacturing company. Compute the operating cycle in
days and required working capital :

3801/9950 16




: qmmﬁ%ﬁmwﬁ%mmﬁ@mﬁrﬁﬁ

O] HITC
Period covergd 365 days
Average period allowed by suppliers 16 days

Rs.
Average debtors outstanding 24,000
Raw material consumption 2.,55.,500 /
Total production cost 4.,74,500 r
Total cash operating expenses 5,11,000 i
Sales for the year (all credit) 7,30,000 i‘
Value of average stock maintained : -
Raw material 21,000
Work in progress 18,200
Finished goods 14,000
Expected cash and bank balance 20,000

3801/9950 17 PT.O.




UNIT - IV

(FHTE-1V)
15. A recently incorporated company X Itd. wishes to prepare cash
budget for the first six month of financial year from following

estimated receipts and payments.

e 21 o e s veg. fa. fada ad & gy e AEEl %
feru Frafafea st el w6 gmam § 9 @52’ 991
EB’FITE‘I%H’T%:

Months  Total Sales Material Wages Production Selling

April 40,000 40,000 6,000 6,400 1,600
May 44,999 28000 8800 6,600 1,800
June 48,000 28000 9200 6,600 1,600
July 52,000 24000 9200 6,300 1,800

Auguest 56,000 24000 9,600 7,000 1,800

September 60,000 32,000 9,600 7.200 2,000

3801/9950 18




Cash balance on 1st April was Rs. 20,000 An ordinary plant
is to be installed at Rs. 60,000 on hire purchase to be repaid
by two equal instalments in month of June and July. Sales
commission on gross sales, is to be paid @ St. in the month
following the actual sales. Final call monéy of Rs. 20,000 is
expected to be received with a premium of 10% there on in
month of June. Period of credit allowed by creditors is 2 month
period of credit allowed 1 month in payment of overhead is 1
month and that of wages is 1/2 month. Cash sales is 50% of

gross sales in each period.

1 31lel %1 TS T 20,000 . 1 | TH FHAY T 60,000 F.
*if &1 & 8 forern v W e s qen fore g
< W fervdl § S wd o § fR i fasd W s

T fosrd W 5% @t R ¥ arafes oy F o e § &g
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2rm ) sifm = T 20,000 F. 10% WiEd F Wy SE A
W BN | SR B We SUR afy 2 e ¥, IR H WeH
SuR ety 1 e & SUReAEl 6 e § sy e 1 A
T weEh TaM & fau 7w 172 WE ¥ & e § T
farrt et fersht 1 50% ® |

UNIT - V

(FTE-V)

16. Explain financial prepective of balances scorecard. How is it

used to implement strategy of a company ?

Iofn =S ¥ fada afdey =1 gusnEd | 9€ Wi @

w0 34 form WER wgE o T
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